ADDITION AND SUBTRACTION.

57. 542+ 856-—1029 4 742="

58. 3145—1278—999+ 1962="?

59. 13021 — 7468 4 4567 —9876="1

60. 78432 — 1098 — 50629 — 19767 ="

61. 101010— 29029 — 290Q— 58971—="

62. From 13462 take the sum of 7258 ana 4904.

63. From 31031 take the difference between 21021
and 8o018. _

64. From the sum of 125423 and 6125 take their
difference.

65. Washington was born in 1732;‘Franklin was
born 26 years earlier, and died at the age of 84. In
what year did he die?

66. A coal-dealer’s stock on November 30 was 12453
bu. He bought 3167 bu. in December, 2856 bu. in Jan-
uary, and 1975 bu. in February. His sales for the same
months were respectively 6479, 5866, and 4753 bu. How
many bushels had he remaining?

67. A speculator began business with $1o425. His
profits for the first year were $4170, and for the second
year $1140 less than the firstt. How much money had he
then?

68. A had $11453, and B $4329 more; A gained
$2645, and B lost $2934. Which then had the more,
and how much more?

69. C has 3072 bu. of corn, which is 987 bu. more |
than D has. E has 2539 bu. less than C and D together.
How many bushels have all ?

70. A, B, C, and D inherited a fortune of $100000.
A's share was $21625, which was $6250 less than B's; C
received $3125 less than B. What was D’s share?

71. A grain-dealer having 10431 bu. of wheat, sold
7563 bu., and then bought 514 bu. more than he had left.
How many bushels had he then?



72. Smith is worth $13274; Jones, $956 less than
Smith; Brown, $1083 more than Jones; and Robinson,
$2394 less than Brown. How much have all?

73. A has $1560, which is $467 more than B has. If
C has $1306 less than A and B together, how much have
all? _ _ '

74. Four men bought a farm for $10000; the first
paid $2150, which was $375 less than the second paid;
the third paid $125 less than the second. What did the
fourth pay? .

75. ‘The population of a city January 1, 1890, was
123450. During the year there were 2469 births, 1976
deaths, 1258 people moved in, and 701 moved away.
What was the population January 1, 1891?

ANSWERS.

ARTICLE 26. .
57. IIII. 64. 12250. 71. 6250 bu.
58. 2830. 65. 1790. 72. $50000.

50. 244. 66. 3353 bu. 73. $4000.
60. 6938. 67. $17625. 74 $2925.
61. 10101 68. A $1250. 75 124500.
62. 1300. 69. 7775 bu.

63. 18028. 70. $25750.



